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T Al 1A A
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A FAAEYgERL
Ald A [ A
T A} 9 ANddad: 2016.4.18.
AlEH T E-34 (NO. )  AEAHAEA NEHgA: Hed 7 -
A BEEF: Z(HESR) Ald )= 1A Al 2 A5
NEHFY: 2016.4.7. A= A FH A AlzAHY:
24 % Density 2.662 g/a 2AAF P.I NP H A1 0.M.C 7.8 (%)
MAA  Liquid Limit NP (%) =A=x%2w(CBR) 26 (%) AP (N FEL]H) 6.8 (%)
2@ Plastic Limit NP (%) JURAEBE 9030 g/ AAFSN 9.4 (%)
(M')vnrwnﬂnc 1 ‘rw\
A7FESEx%
PERCENT PASSING OF
STEVTE ANAIYSTS
A o] A.7] 5 9 &
A 72 = ;A (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 _
53 -
- 37.5 -
g 26.5 -
oy =
Y 9.5 -
i 4.75 -
- 2.0 -
0 0.425 -
g9 7 0.08 -
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d F ¥F oA ¥ X
o ARNE -3y o A&AAR  :2016.4.8.
o A|EH ks F 2306:2000 o 7NEANYA HEPY L¥
° MREE 5 meg) o Al @ A AHASEA 5
Al 58 W = 1
WW: 1436.5 DI: W DW: I DV:
DV: 1324.6 TW: 187.9|Di: ™W: EDW: ™W:
Ww:  111.9 Ws: 1136.7|Ww: Ws: [ Ww: Ws:
W: 9.8 W: | W:
S |
WW: 1488.3 DIi: W DW: Eww: DV :
DV: 1379.7 TW:  180.1|DW: W: ti: TV:
Ww:  108.6 Ws: 1199.6|Ww: 0 Ws: Ly s
W: 9.1 W: ! W
Bt eaen] W) 9.4 i
Al xR W & ! i
W DY i : D i : DIy
DW: ™W: EDW: ™W: :DW2 TV:
Ww: Ws: | Ww: Ws: [ Ww: Ws:
W: | W: | W:
S | |
W DW: Eww: DW: Eww: DV :
DW: ™W: iDW: v: ti: v:
Ww: Ws: !Wwi Ws: !Wwi Ws:
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Al

o NEWE : E-34 o Al LAt 2016.4.11.
o AW KS F 2312:2001 o 71&AR} : Hen 2 LY
O ANFFE I S(HESL) oA A s A
= = 8 2o 2206.55 ci A 5967.1¢g
8 2206.55 ci 5967.1 g
=4} T 2.662
(AN B+E=)FAl(g) 1 | 10600.3 I 2 | 10783.3 ' 3 | 10815.2
I I
AoxaEA(g) 4633.2 | 4816.2 | 4848.1
AOWE Y t(g/cr) 2.100 i 2.183 i 2.197
WW: | 1329.8|DW: lww: | 1617.0/DW: W 1374..0|DV: |
DW: | 1266.4|TW: | 179.7;DW: | 1519.0(TW: |  179.3|DW: 1275.7|TW: 209.6)
W : 63.4 Wi 1086.7)l: 98 Ws:  1339.7|Ww: 98.3 Ws:  1066.1,
W: 5.8 W: 7.3 W: 9.2
& 5= W = A ! !
WW: | 1424.3|DW: lww: | 1511.9/DW: W : 1493.8|DW: |
DW: | 1356.5|TW: | 177.4 |DW: | 1414.3|TW: | 180.6|DW: 1385.1|TW: 177.9|
W : 67.8 Ws:  1179.1w: 97.6 Ws:  1233.7|Ww: 108.7 Ws:  1207.2
W: 5.8 W: 7.9 W: 9.0
I
Hgn] W(%) 5.8 i 7.6 i 9.1
Az = Yd(g/ar) 1.985 i 2.029 i 2.014
Q7] 2 | |
Az 2 T g/en) ) _2326 ______ t-— __2;2_14 _______ —-— __2'_1fB ________
(N B+E =) () 4 10879.2[ L5 ] 10883.4 ! ] 10812.7
A2 A 7FA () 4912.1 i 4916.3 i 4845.6
Aoy t(g/cr) 2.226 | 2.228 | 2.196
WW: | 1552.9|DW: lww: | 1454.4|DW: W : 1499.7|DW:
DW: | 1423.4| 204| 175.2|DW: | 1310.0/TW: | 207.4|DW: 1338.5|TW: 181.5
W : 129.5 Ws:  1248.2w: 144.4 Ws:  1102.6|Ww: 161.2 Ws:  1157.0
W: 10.4, W: 13.1! W: 13.9"
g £ v F A :
Wi | 1622.3|DW: bww: [ 1520.6]DW: W 1511.8|DW:
DW: | 1483.4[TV: | 197.8IDW: | 1387.8|TW: | 211.1[DW: 1350.4|TW: 209.5
W : 138.9 Ws:  1285.6]Ww: 132.8 Ws:  1176.7|Ww: 161.4 Ws:  1140.9
W: 10.8; W: 11.3) W: 141
H &S] W(%) 10.6 i 12.2 i 14.0
AZAEYd(g/cr) 2.013 | 1.986 | 1.926
q 7] 2= L
52w e e 2.076 2.009 1.939
H] Il
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9 2= AE

H T E-34
o Al & WM KS F 2308:2006
= 5 Z(HES)

o Al &8 z HAEL

1o

= % Ll kel 1 2 H] 3L
v & H 9 H 3 24 31
H o % Wt (g) 79.242 81.914
H W + /75 Wai (g) 327.335| 329.869
Waig @3S wo] == Ti(TC) 20.3 20.3
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 1.000060[ 1.000060
Wai - Wf (g) ® 248.093|  247.955
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 327.350|  329.884
2.9 F A F
Hl =4 CAZA R o ok
I8 + e dAE + S5 T 300 981 | 345,532
Wh(g)
s SA4T o] JaxmHe
e 2% Tx(T) A0 A
wAZ A8 T Wo (g) 25.028 25.018
T(C)Y wo Wo
59 HlF = 2.663 2.670
(TC / TC) Wo + (Wax - Wh)

2L tgt 5o W (g/cn) 0.99820[  0.99820

E 9 9 Z=(g/cr) 2.659 2.665
g 4 # 2.662 (g/cxt)




£9 4=NY 27

o AlgWE 1 E-34 o AFUA  :2016.4.12,
o AEWH 1 KS F 2302:2002 o ZlEAY 2EH 7 2
O MRFE L FH(HES) o Al ¥ A :AUSH
1. IES . HSHES NEZUE
Ams (MES(23)m)] 75 53 | 37.56 | 26.5 | 19 9.5 | 4.75 2 0.85 | 0.425| 0.25 | 0.106 | 0.075
[ otes»s®) |100.0 |100.0 [100.0 | 97.8 | 91.7 [80.1 |71.83 |59.7 | 3.2 |11.3 | 5.7 4.0 3.6
HESA | Z(MM)| 0.048 | 0.034 | 0.022 | 0.013 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
= A =susE%) | 6.7 | 65 | 63 | 58 | 58 | 56 |54 |49 0
2. YFIIE=H
-
AAITIH T M
100.0 y
90.0
80.0 /
//
70.0 /4/
5060.0
~n50.0
1640.0
& q
=30.0
20.0
10.0 —1 //
——___________—-0——- + v v No— el
0.0 —
0.0001 0.001 0.01 0.1 1 10 100
o
| ——AHTA




SAYTAME(H2H AE)

o ANIWFT : E-34 o AdAdz  2016.4.12.
o AgHy : KS F 2302:2002 o 7]%&AA FH2E 2
O AFEE 1 T(HELR) o Al ¥ z 2ASH
- NO.1OHMIO Y2 AIBE 228 A1
4 ZI|AHXR
SHMAIZ Sl BIIAE2 A (W) CATAIZI AIZSH (W)
A2
Nyl (BHMZ2IHZA2+2D]) 3625.3 ¢ Wi+ 2 1,707.3 ¢
2J|2 A 585.7 ¢ 2|2 585.7 ¢
HHAIZ2O ZIHZE2AHW) 3039.6 ¢ W1 1,121.6 ¢
1. ommil EV/AIZO B2H =F
NO 1 NO 2
WW 517.3 WW 620.4
Ow 491.0 Tw 209.1 Ow 585.2 Tw 205.4
Ww 26.3 Ws 281.9 Ww 35.2 Ws 379.8
W= 9.3% W= 9.3%
&4t 9.3%
2. BXAHAZAIZLE2AHWO) = W/ (1+w) 2781.0
3. 2mmAl SUAHZAIZ2H (W2)= W2=W0-W1 1659.4 ¢ 1659.4
4. P2.0(YH2.0mmllAS JIEENUE)= W2/W0 59.7% 32.4%
5. 2mAI0l £ Al=2o HMEA
H At 1 2 1 2=1/W0
- = o ==L g2z o o0 D] Bl =
75.0mm 1 437 .10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469 .50 530.30 60.80 2.2% 2.2% 97.8%
19.0mm 5 456.80 626.50 169.70 6.1% 8.3% 91.7%
9.5mm 6 489.70 813.20 323.50 11.6% 19.9% 80.1%
4 .75mm 7 524.00 769.20 245.20 8.8% 28.7% 71.3%
2.0mm 8 448 .90 771.30 322.40 11.6% 40 . 3% 59.7%
* AXAIE2AH: 1121.60 g




£ AZAIE(2.0mmH SUE 24)
o A¥HT 1 E-34 o AlddxAt . 2016.4.12
o AW KS F 2302:2002 o 7%= es 7 o
O ANFFE (S (HES) o Al g A ASA A AT
(ZBIAZTAIZH+ZD)2A 692.18 ¢ £9|8Hl(w) : 9.4%
ZI|12H : 577.00 g o/ (Gs) : 2.662
SIHATZASE2EA W; : 115.18 ¢ AR (Pl) N.P =AHA HALIEE
HAXAIZE2H : Ws=100W; /(100+w) : 115.07 g
P2.0(2F2.0mmHlMe JIIHEWUS: 59.7%
1. 2IAXTANZRS &==H EFH(XAE=HI)
NO : 1 NO : 2 NO : 3
w = 1436.5 W = 1488.3 W =
oW = 1324.6 Tw = 187.9 W = 1379.7 Tw = 180.1 oW = Tw =
Ww = 111.9 Ws = 1136.7 Ww = 108.6 Ws = 1199.6 Ww = Ws =
W= 9.8% W= 9.1% W=
sl 9.4%
2. HISH AE
== Z LAl 2H HEHSHS ZICH AD(mm) 2l 2 A N il A ‘ = =| E&Jt
SEN i) [AreE [ ¢ [seuoimm] VUt | J(@on)/oGs ) [aO@z(m| —oMNTE |TEATE T PDIRSEE ney
13:01 1 0.0120] 0.0120 146.2 146.2 12.0901 0.0040 0.0484 25 0.0020f 0.0140 19.4% 6.7%
13:02 2 0.0115] 0.0115 147 .1 73.6 8.5772 0.0040 0.0343 25 0.0020f 0.0135 18.8% 6.5%
13:05 5 0.0110] 0.0110 148 . 1 29.6 5.4425 0.0040 0.0218 25 0.0020f 0.0130 18.1% 6.3%
13:15 15 0.0100] 0.0100 150.0 10.0 3.1627 0.0040 0.0127 25 0.0020f 0.0120 16.7% 5.8%
13:30 30 0.0100] 0.0100 150.0 5.0 2.2364 0.0040 0.0089 25 0.0020f 0.0120 16.7% 5.8%
14:00 60 0.0095] 0.0095 151.0 2.5 1.5864 0.0040 0.0063 25 0.0020f 0.0115 16.0% 5.6%
17:00 240 0.0090] 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.3% 5.4%
13:00 1440 0.0080] 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 13.9% 4.9%
HULAHAS EF (Cm) : 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 12:8E 28 220 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V): 8.69 cm/g Gs/(Gs—0.99678) *rw 1.599 g/om Vb : —?’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 7=6%P2.0
i 2ws |giey| SEAEY | HENE ] yog S IHENE (BRI =us
=) i3 S - SC—)D'-D|—?—}||Q —‘?—}”O (il n iF=1 =TT E = o = S U=
0.85mm(NO.20) 1 437.3 484.5 47.20 41.0% 41.0% 9.0% 35.2%
0.425mm(NO.40) 2 369.7 415.7 46.00 40 .0% 81.0% 9.0% 11.3%
0.25mm(NO.60) 3 380.0 390.9 10.90 9.5% 90.5% 9.5% 5.7%
0.106mm(NO. 140) 4 345 .1 348.4 3.30 2.9% 93.3% 6.7% 4.0%
0.075mm(NO.200) 5 351.3 352.0 0.70 0.6% 93.9% 6.1% 3.6%



CBRA & =
O AlYFHS E-34 o Ald =} 2016.4.11.
o Ay KS F 2320:2000 o 7]&AA} - HeHd HEE
o AdEE T(HESL) oA 8 A A=Y
Z5 NAEE] (oAl (e AN wwA] Botr [2Ea a0l |sred | 540
A lzews| ™ A @ | @ | @ | @a) | @ | @ea | @
T (g)
3X17 40 9067.5 | 4670.8| 4396.7| 2199.21| 1.999 7.8 1.854] 19
3X42 41 9197.1 | 4661.6| 4535.5| 2211.58] 2.051 7.8 1.903] 25
3X92 42 9300.9 | 4678.4| 4622.5| 2211.29] 2.090 7.8 1.930] 27
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2|24 =2 £ %0.95
~2.030%0.95=1.929
)/ T
T
&
!
A
” 4
=
=
L
i
"
Lan
GZ‘JCBR=26.0 l
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SRR ERPE:

= =S “1:].’ A

o AT E-34 o Algdx} 2016.4.15

AleHby 0 KS F 2320:2000 o 7|=AA} - HeA 2 LY
NEER . pogzs A @ A Asg

vl ol &k

T B J‘%(m‘fn;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
?kgg 0 28.0 61.00 102.0| 143.0 186.0 230.0 307.0] 383.0] 505.0| 553.0
=] == ]_]:

0 |FrEEEl 1.4 3.1 5.2 7.3 9.5 11.7 15.6 19.5 95.7 98.2
(kg f/
=] == ]_]:
?Mﬁ/%;; 0 0.140|  0.305| 0.500| 0.714] 0.920| 1.140] 1.533] 1.913] 2.522| 2.761
fkgg 0 36.0 73.0l  117.0l 173.0 228.0| 289.0 401.0] 506.0| 670.0| 715.0
=] == ]_

41 |SrEEEL 1.8 3.7 6.0 8.8 11.6 14.7 20.4 95.8 341 36.4
(kg f/
=] == ]—T:_
"(M“Ij;‘;n; 0 0.120| 0.365] 0.584| 0.8e4| 1.139| 1.443] 2.002| 2.527] 3.346| 3.570
fkgf) 0 53.o]  110.0] 175.0| 242.0| 309.0| 370.0 476.0| s549.0 701.0| 769.0
=] == ]—T:_

42 O(f,;%ff 0 9.7 5.6 8.9 12.3 15.7 18.9 94.3 98.0 35.7 39.2
=] == ]—T:_
"(M“Ij;‘;n; 0 0.265|  0.549| 0.874| 1.208] 1.543] 1.848] 2.377  2.742] 3501l  3.840
17 3 (2.5m) gg <100 = 13.5% 5. Omm 110-93 <100 =  18.6%
42 3 (2.5m) é'é <100 = 16.5% 5. Omm 120'53 <100 =  24.5%
92 3 (2.5m) ég <100 = 22.4% 5. Omm 120-73 <100 =  26.6%
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ATTERBERG 3._"71|

o ATHT  E-34 Algdz 12016.4.14.
o AlFHH D KS F 2320:2000 o 7]%1 o] 2} Afu ,1 2%
o ANFEFLE I HF(HESR) oA 3 2 A= Sy
M SHA
NEEE. 1 p)
2 7l H 5
2I|2A+FH 2527
Z7|FAH+0EZEA
= o & A 0 0
2 7] 2 A
of 2 Al 2 & A 0 0
st £ H| #DIV/0! #DIV/0! #DIV/0! |A| R & otEl
O M SHA|
NEEE 1 2
o s 3 %
2 7] #H 5
E7|24 + 252
S7|F2H + o222
2 o 2 7 0 0
2 7] 2 A
of 2 Al 2 2 7 0 0
5t = H|(%) #DIV/0! #DIV/0! #DIV/0! |A| R M & okE
s ™
o4 M 5|
=z
<+
o
T
ar
0
1.0 10.0 100.0
ShH|(W) %
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Al Ao}
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